eagles par ‘double b &+
birdies bogeys
RINGER SCORE 16/06/2025

PAR3UNEX =6 PAR4UNE X =8 PAR 5 UNE X = 10

Trou 1/ 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18]

Par 4 3 4 5 4 4 5 3 3 5/ 4 4 5/ 4 3 4 3 471
1ere serie Homme <155
1 |[MACCARI PATRICK 4(4|4|9[6[8]|]5[3[3|6|4[83|6|4a4[3|a]|5[5]81
2 |[LOUGE ALAIN 4(a|5|6[5|5]|5[4a|2]|]6[a|[8]|]7[4a|[a]3 | 6|[6]83
3 [BOROT LAURENT 5(3|6|4[6|5]|7[3|3|6[6|4]|]5[6[3]|]4[3[7]86
3 [CHASSON JJMICHEL | 8[3[5]|7|6[4|5]|3[3|[a4]6[5|6]|5[3[4|]a[5]86
5 |[GUILLERMET |JEAN-LOUIS| 6|4 |5|6|5|5[7]|4|3[4]|6|5[6|5]|3[5[4]|5]88
6 |SANZONE MATTEO 5(a4|5]|6[5|5]|5[4|3|8[6|a|]5[4a|[a]7[4a|[5]89
6 |RAGUIN CHRISTIAN |6 [4|5]|5[6|5|6|4[3|6]|5[5|7|5[4[83]|]4[6]89
8 |SPENCER PASCAL 5[5|5|6[6|]a]8[3|a|]8][6|5]7[6][2]6][5[5]96
H@Ies par 'double b &+
birdies bogeys
PAR3UNEX =6 PAR4UNE X =8 PAR 5 UNE X = 10

Trou 1.2 3 4 5/6 7 8 9 10 11 12 13 14 15/ 16 17 18

\ Par 4 3 4 5 4 4 5 3 3 5/ 4 4 5/ 4 3 4 3 4 N
2eme & 3 eme serie Homme >15,4
4(3|a|5[5]|5]|5[3|3|5[8|4a4|]5[4a4[a]a[3[a]T3
1_[VEISSEIX JOEL 5(5|6|7[6|5|5[4|4]|5[5|5]|8[5[3]|5[3[6]92
2 [LEBASTARD _ [REGIS 6(/6|6|7[5|6|6|2|3|8[5|5]|6[5[4|5[4[5]|94
3 |BERTOLAMI  [ALAIN 5(4|5]|10({5]|5|6[4|a|]5[5|a4]7[6[3]|8[5[5]96
4 [SERME GERARD 7|5[6]|10[5|4|7[4]|2|8|4|6[7]|5[a|]5|a[a]97
5 [BOGOSSIAN |EDOUARD |5 4|6 |6]|5[7|9]|5[4a4|8|6[4a][6]|5]|[6[6]4]5]101
6 |LEFORT OLIVIER 5(4|5|7[6|8|6[6|4|6[5|[6|9[6[4]|]5]|5](5]102
7 |MAZEYRAT BERNARD 8[6|5]|6[5|6|7[3|a]o[8|a|7[7[3]|8]6]4a]106
8 [HANIS GABRIEL 7[5|6|8[6|7]|8[4|4a|]6[8|[6]|6|6[4a]|]8]|4a[5]108
9 |DE LAUZUN FREDERIC [8| 6|7 [8|8|7[6|6]2]7|5]|]5[6|[5]|3[8[5]8]110
10 [DE GREGORIO [CARMINE 6([6|7|8[6|8|9[5|4|]9[5|7]|7[5[3|]4]4a][s8]111
10 |[DARDIGNAC  [CLAUDE 6[5|7|8[7]|5]10{4|3]|]10[{6|6|8[5[4]|]5]|6]6][111
12 [ARDUIN JEAN PHI 8[5]|5]|10[{8|7]10[5|3]|]9[6|[7]|]9[8[5]|8]|6]7]126
Heagles par 'double b &+
birdies bogeys
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